West Bengal State Electricity Distribution Company Limited



(A GOVT. OF WEST BENGAL ENTERPRISE)
OFFICE OF THE DIVISIONAL MANAGER, PURULIA DIVISION
TARIT BHAVAN, 2nd FLOOR,
PURULIA -723101(W.B)
E-Mail ID - dm.purulia@wbsedcl.in

Corporate Identity No. (CIN): U40109WB2007SGCI13473, Web: www.wbsedcl.in

NOTICE INVITING E-TENDER

NIT No.: PRLD/E-TENDER/2023-24/15/1216

Date: 08.08.2023

NAME OF THE SCHEME: Conversion of 33KV OH Railway Crossing to UG Railway Crossing in 33KV in 33 KV ppsp1 & ppsp2 Feeder near Mangria (KM 327) under Purulia Division.

The Divisional Manager, Purulia Division, WBSEDCL invites e-Tender in Two-Part only from the bonafide, experienced and resourceful contractors of Govt., Semi Govt., Govt. undertaking Organizations, Govt. Enterprises etc. who is technically & commercially qualified and have successfully completed similar nature of work having value not less than 50% / 40% / 30% (Fifty/Forty/Thirty percent) of the estimated cost in a Single/Two/Three respectively contract during last 3 (Three) years and Commercial QR as detailed in clause 4 below. [Submission of Bid through online]

SI no.	Description of Item	Estimated Cost	Earnest Money	Completion time
1	Conversion of 33KV OH Railway Crossing to UG Railway Crossing in 33KV in 33 KV ppsp1 & ppsp2 Feeder near Mangria (KM 327) under Purulia Division	6,48,332/-	12,967/-	
	(As per attached schedule)			

- In the event of e-filing intending bidder may download the tender document from the website https://wbtenders.gov.in directly with the help of Digital Signature Certificate. Necessary Bid Security (Bid security deposit-BID SECURITY) may be remitted through Online in favour of the "West Bengal State Electricity Distribution Company Limited" and also to be documented through e-filling.
- 2. Both Technical Bid and Financial Bid should be submitted in technical and financial folder concurrently duly digitally signed by the Bidders through the website https://wbtenders.gov.in.
- 3. The FINANCIAL OFFER of the prospective bidders will be considered only if the TECHNICAL DOCUMENT of the bidders found qualified by the Tender Inviting Authority (WBSEDCL). The decision of the Tender Inviting Authority (WBSEDCL) will be final and absolute in this respect. The list of Responsive and Non-Responsive Bidders will be displayed in the website.
- 4. Eligibility criteria for participation in the tender:
 - Technical Requirement:- Bonafide, experienced & resourceful contractors of Govt., Semi Govt.,
 Govt. undertaking Organizations, Govt. Enterprises, Other Licensee of States, etc. who is
 technically qualified & have successfully completed similar nature of work having value not less
 than 50% / 40% / 30% (Fifty/Forty/Thirty percent) of the estimated cost in a Single/Two/Three
 respectively contract during last 3 (Three) years.

West Bengal State Electricity Distribution Company Limited



(A GOVT. OF WEST BENGAL ENTERPRISE)
OFFICE OF THE DIVISIONAL MANAGER, PURULIA DIVISION
TARIT BHAVAN, 2nd FLOOR,
PURULIA -723101(W.B)

E-Mail ID - dm.purulia@wbsedcl.in
Corporate Identity No. (CIN): U40109WB2007SGC113473, Web: www.wisedcl.in

Commercial Requirement: - a) Average annual turnover during last three years shall not be less than 30% of the estimated cost. b) Working capital in the year proceeding the year of bid submission shall not be less than 30% of the estimated cost. c) Available credit facility shall also be added to working capital certified by Bank for working capital as noted in (b) above. d) Annual audited Financial Report for last three years to be submitted for verification i.r.o. bidders for whom audit of accounts is mandatory. For those whose audit of accounts is not mandatory, they shall submit copy of IT return along with related enclosures for last three years.

- All intending bidders are required to also produce the following:-
 - 1. Valid copies of GST Registration
 - 2. Current challan for depositing Professional Tax (PT)
 - 3. Copy of IT return for last three financial years, PAN Card, as applicable.
 - 4. Trade License
 - 5. Documents in support of credential: Copy of orders & Completion Certificate.
 - 6. Performance Certificate as Prime Contractor for execution of similar nature of works for last Seven years and details of works in hand.
 - Information regarding any past and current litigation with WBSEDCL/WBSETCL/Govt./PSU in which the bidder is involved, the party is concerned and disputed amount, wherever applicable.
- 5. No mobilization / secured advance will be allowed.
- 6. Bids shall remain valid for a period not less than 180 (One hundred Eighty) days after date of bid opening of tender. Bid valid for a shorter period shall be rejected by the Tender Inviting Authority as non-responsive. If the bidders withdrawals the bid before the period of bid validity without giving any satisfactory explanation for such withdrawals, the Bid security as deposited will be forfeited forthwith without assigning any reason thereof.

7. Date & Time Schedule:

Sl. No.	Particulars	Date & Time 09.08.2023 at 11:00 hrs		
1.	Date of uploading of N.I.T and Tender Documents (online).			
	[Publishing date]			
2.	Documents sell / download start date (online)	10.08.2023 at 11.00 hrs		
3.	Pre Bid meeting	14.08.2023 at 11.00 hrs		
4.	Bid Submission upload start date (online)	10.08.2023 at 11.00 hrs		
5.	Documents sell / download end date (online)	18.08.2023 at 15.00 hrs		
6.	Bid Submission upload end date (online)	18.08.2023 at 16.00 hrs		
7.	Last Date of submission of Earnest Money Deposit (online)	18.08.2023 at 16.00 hrs		
8.	Date for opening of Technical bid (online) for the Bidders	21.08.2023 at 14.00 hrs		
9.	Date of uploading the Final List of Technically Qualified Bidders	To be intimated later		
	after Technical Bid Evaluation (online).			
10.	Date, for opening of Financial Bid (online).	To be intimated later		

West Bengal State Electricity Distribution Company Limited



(A GOVT. OF WEST BENGAL ENTERPRISE)
OFFICE OF THE DIVISIONAL MANAGER, PURULIA DIVISION
TARIT BHAVAN, 2nd FLOOR,
PURULIA -723101(W.B)
E-Mail ID - dm.purulia@wbsedcl.in

Corporate Identity No. (CIN): U40109WB2007SGCI13473, Web: www.wbsedcl.in

- 8. Receiving of Earnest Money Deposit (EMD):- The amount of Earnest Money as given is to be submitted through ON LINE process.
- 9. Return of Earnest Money of unsuccessful bidder(s):- The Earnest Money of all the unsuccessful bidder(s) deposited along with the Tenders will be refunded as per norms and without any interest.
- 10. Prospective bidders are advised to note carefully the minimum qualification criteria as mentioned in clause 4.
- 11. Conditional/incomplete tender shall not be accepted under any circumstances.
- 12. Canvassing in connection with the tender is strictly prohibited. At any stage during scrutiny, if it is found that the credential or any other paper which the bidder has uploaded or submitted is found incorrect/manufactured/fabricated, that bid will be considered as non-responsive and outright rejected with forfeiture of Bid Security and action will be taken as per Rule.
- 13. The Tender Inviting Authority (WBSEDCL) does not bind itself to accept the lowest bidder and reserves the right to accept or reject, split any/all offer without assigning any reason whatsoever and is not liable for any cost that might have incurred by the Bidder at any stage of the Bidding. Tender inviting Authority (WBSEDCL) also reserves right to accept/cancel/withdraw the concerned NIT in full or part due to unavoidable circumstances and no claim in this respect shall be entertained.
- 14. All correspondences with regard to above shall be the following address:-

PURULIA DIVISION, TARIT BHAVAN, 2nd FLOOR, PURULIA –723101(W.B)

Tender Inviting Authority (for WBSEDCL):-

DE & Divisional Manager, Purulia Division, WBSEDCL

Annexure-li

Estimate of Labours for conversion of 33 KV OH Railway Crossing to UG Railway Crossing in 33 KV in 33 KV PPSP 1 & PPSP 2 Feeder near Manguria (KM 327) under Purulia Division

PPSP 1 & PPSP 2 Feeder Hear Management Unit Quantity				Rate (Rs.)	Total (Rs)	
SL No.	Description of Work	1	-			
A. 33 KV Line Set 24 72.00						
10	Fixing. of 33 KV Pin Insulator with Pin	Set	24		1728.00 10256.00	
11	Grouting of Stay Set Complete (HT)	Set	16	641.00	750.00	
19.	Survey for HT Cable Route	Mtr	250.00	3.00		
20	Excavation of soil for formation of cable trenches	Cum	36	20.00	720.00	
	Supply of Kiln-Burnt 1st class bricks for cable protective cover	No.	760	6.19	4704.40	
21		No.	760	1.12	851.20	
22	Laying of bricks	Mtr	250	75.00	18750.00	
23	Laying of XLPE UG Cable-3 core, 400 mm² with one loop at both sides	Set (LS)	4	5000.00	20000.00	
24	Installation of 42 KV LA	No.	8	2200.00	17600.00	
25	Jointing with Jointing Kit - Outdoor Type- 3 Core,400 mm² with connection	Mtr	48	2560.00	122880.00	
26	Supply & Delivery of GI Pipe- 200mm	Mtr	250	1540.27	385067.50	
27	Micro-Tunneling work with laying of HDPE pipe (200mm)	KM	0.120	7202.40	864.29	
30	Dismantling of 100 Sq. mm Conductor from site and return to store- 3 Cond for RL	Cum	34.00	34.00	1156.00	
32	Excavation of soil for Making of Trial Hole		8	4199.00	33592.00	
33	Earthing Complete with 3 Mtr Long 50 mm G.I. Pipe including Addl Cost for Hard Soil	No.	36	117.00		
34	Laying of 400 Sq.mm 3 Core 33 Kv U.G Cable (Double Cable in a trench)	Mtr		3000.00		
35	Raising of 33 KV Cable at D.P. Structure with G.I. Pipe Support	No. (LS)	8	300.00		
36	Supply, Delivery & installation of Cable Marker with voltage rating, size of cable etc.	No.	4	300.00	648331.39	
Total					648331.39	
Total of A+ B+C+D					648331.00	
Total Cost of Labours in round figure						

Divisional Managur Purulia Division W.B.S.E.D.C.L.

Divisional Engineer (E)

Purulia Division

WESTED C.L

